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English

Task 9 7 Marks

Tick (v') the correct answers.
1) Which of the following is an example of a pronoun?

A. we
B. try
C. box
D. from

i) Mark the adverb of frequency.

A. action

B. Salman
C. always
D. mobile

1)) Which of the following is the past participle verb?

A. go

B. goes
C. went
D. gone

iv) Identify the sentence that has correct punctuation.

A. Ahmed Saad and Nadia are going to school.
B. Ahmed Saad and Nadia are going to school!
C. Ahmed, Saad and Nadia are going to school.
D. Ahmed, Saad and Nadia are going to school?




Page|6of27 Grade-VI

v) Mark the comparative degree of the underlined word in the given sentence.

| have an old car
A. olds.

B. older.
C. oldest.
D. most oldest.

vi) Mark the sentence of present perfect.

A. My sister has completed her assignment.
B. My sister completed her assignment.

C. My sister completes her assignment.

D. My sister will complete her assignment

vii) Which of the following is a negative sentence?

A. Mr. Farooque watches television.

B. Mr. Farooque doesn’t watch television.
C. Mr. Farooque watched television.

D. Mr. Farooque will watch television.,

Task 10 2 Marks

Read the given sentences. Write their appropriate questions in the given
sentences. Do not forget to put question mark at the end of each question.

My favourite fruit is strawberry.

i)

His brother has gone for shopping.
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Task 11 3 Marks

Read the given poem and answer the following questions.

When you drop me on the floor

| get stepped on —my sides are sore;
Torn —out pages make me groan;

[ feel dizzy if I’'m thrown;

Every mark and every stain

On my covers gives me pain;
Please don’t bend me, if you do

I don’t want to talk to you;

But we will both be friends together,
If you protect me from the weather
And keep me clean so that I look
A tidy, neat and happy book.

Anonymous
Write the correct answers.

1) Suggest and write appropriate title for the poem above.

1) How could you become the friend of a book?

1ii) Find any one adjective in the poem and write in the given space.
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Task 12 5 Marks

Tick (v') the correct answers to complete the following sentences.

1) School is closed today is Sunday.

A. but
B. and
C. therefore
D. because

1) We have subjects to study.

A. many
B. much
C. any
D.a

i) I have eaten my lunch,

A. yet
B. already
C. because
D. as

Iv) A sparrow swim.

A. can

B. should

C. cannot

D. should not

V) He goes school by bus.

A. In
B. to
C. on
D. for
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Task 13 4 Marks

Write a short paragraph on any one of the following.
(NOTE: Use correct punctuation, grammar and spellings)

» Importance of Cleanliness
» My Favourite Season.
> A Village Life

AnSs.
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Task 14 4 Marks

Write a letter to your friend about an interesting place you have recently visited.

(NOTE: Use correct punctuation, grammar and spellings)
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Mathematics

Task 15 15 Marks

Tick (v') the correct answers.
S ol 32 (V) &3 g ol s

N 5. i
1) = is the reciprocal of
9

- 5

wlo v1lv NIY NIV

2. :
i) s into percentage is

. .2

ok p (S et (9 =
A. 30%
B. 40%
C. 50%
D. 60%

1) If a piece of 10 metres long kite string costs Rs 5. The cost of Kite string
which is 30 metres long would be Rs

5 e 30 55 o g opmis) 5 5,55 S g SIS o)ls 581 540 ol St s 10 (i
Sl Camed 2 S5 515 3131 50 (619

A. 10
B. 15
C. 20
D. 25
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iv) 15.5
—7.42

A. 7.98
B. 8.08
C. 8.18
D. 8.28

<
j —
N |-
+
ol
Il

NIV NI |l RIW

vi) In a class of 30 boys, two-third carry books. The number of boys carrying

books is
0552 Sl A s Bl 5 s 5 S oo ol 08T 15552 30 4 oS S
B o g
A. 18
B. 20
C. 22

D. 24
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vii) If a tree grow by 60 centimetres in 5 months. What will be its height after 10
months?

o (S Sl 2 O o (et 1055 (655 s Sieww 60 (i 5 89 S0

A. 110 centimetres

St gt 1 10
B. 120 centimetres

St gt 120
C. 130 centimetres

St gt 130
D. 140 centimetres

P S 140

viii) =12 = (=9) =

-3
+3
-21
+21

COw>

iX) In a class of 50 students, 10% students are absent. The number of absentees is
22 08 i polo ek (g3l ol b 3 S s35emns 10 o s (812,51 50 5 WS S0
B ol

OoOw>»
OR W
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X) The average of the following set of numbers is

4,7,11,13,3,10

Sow>»
= o o
o

R
N

: L1
XI)874—

A. 20
B. 26
C. 32
D. 38

xii) The sumof 2x — 3y and 3x + 7y is
i 3x+7ye 2x— 3y
A. 4x — 5y
B. 4x + 5y

C. 5x — 4y
D. 5x + 4y

xiii) 15.48 ~ 4 =

A. 3.47
B. 3.87
C. 447
D. 4.87
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xiv) The ratio of the heights of Ahmer and Babar is 3 : 4 and that of Babar and
Kareemis 5 : 7. The continued ratio among the heights of Ahmer, Babar and
Kareem is

205 i 6 gl el 15T g s g 6 BT 3kl 20 2 Al £
A.12:15:18
B.15:18:21

C.15:20:28
D.18:21:24

xVv) A man bought bananas for Rs 80 and sold them for Rs 120. The gain

percent is
3l g g2l gy 0 o 0,55 p s 120 £ oo e 2 () 80 2 il S8
Pl p S5 S
= .
A. 40%
B. 50%
C. 60%

D. 70%
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Simplify and show steps.
SN | o e Solw

25.6 +13.9-9.7

Ans.

Task 17 2 Marks

Solve the following equation. Show steps.
SNt 5 Jor Sl sl 5 et

3x—4=8

AnSs.
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Task 18 3 Marks

The following pie graph shows the angle of children who like a particular fruit.
There are 120 children in the survey.

08 B 5 N 30 2> S0 e B gy 55 p SRS 2 () IS L S e

Mangoes

‘ 135°

Bananas
1350

1) How many children like mangoes?
T8 g ol S 030 (e

Ans.

1) How many children like apples?
] ey 0 S ()l (e

Ans
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1) How many children like Bananas?
o8] e e S ()l (e

Ans.

Task 19 3 Marks

Multiply 3x + 7y + 5z by 2x2. Show steps.
S Nor e g, 0o b 22% S 3x + Ty + 52

Ans.
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Rough Work
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Science

Task 20 10 Marks

Tick (v') the correct answers.

A s 2 (V) 53 5 ol pod
1) Select the living thing from the following.
90 e g7 2 i ol o S5 St
A B C D
Car Light Plant Paper
<38 ) L JREPATES

i) Lions have sharp teeth for tearing flesh. Which enables them to survive in a
particular environment. This phenomenon is called

P 2 4 sl (2B S ol ol Bl pal ligh 3 5 V3L e 2 CaligS S (s
Pl s 5/ o & ] giedlity B

A B C D
adaptation. ecosystem. behavior. variation.
s Sl $9) o e

1ii) Following is an image of a fish. It breathes through its
P18l BT G0 dlw e oty iz 32 B s gl S5 St

A B C D
gills. lungs. skin. kidneys.

- -
- 7 -
. Py .
o . o o
. - .. .
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iv) Select the name of part X of a microscope.

S S\ 7 2 X o iy 5 S

A B C D
Stand Slide Arm Stage
s Sy o —d @;J

v) The animal shown below is

Plosle )
A B C D
Sea horse. Turtle. Hydra. Seaweed.
5SSl (= Ll (S SNl
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vi) Argon is used

P 3ok St 81
A B
for making artificial fertilizer. as fuel for aeroplanes.
£ i&b f)t-j (o gt 2 ébbﬁ @)LP S.;l}b
C D
to fill in tube lights. during welding.
SO p Y e s 2 Sk

vii) Which of the following gases is released while wood is burnt?
ki ) S (G35 O (e 5 B goks syl S DS i

A B C D
Carbon dioxide Oxygen Nitrogen Fluorine
s [y o)\ (| oyl sk

viii) Select the instrument that is used to measure the air pressure.
o= .,\J,g-%gjbﬂj&ﬁdhﬁ..ulﬁ &b%;flga%gbﬁobw
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iIX) Which of the following gases is used to purify water?
S@Tg&ﬁJWbﬁg}@é N s dls S A4

A B C D
Hydrogen Chlorine Nitrogen Oxygen
e wla IS el |

X) Which type of energy is stored in the batteries shown below?
5 AT ol o S5 7 ol SHED (o 95

A D
Potential energy Chemical energy Solar energy Heat energy
Al sl Al Sl AUl s Ul gy S
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Task 21 2 Marks

Write any two differences between City Environment and Village Environment.

SRR RN PRICTIE L EAIET
S.no City Environment Village Environment
Dy oo (g el oo 530S

01

02
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Task 22 2 Marks

The given diagram is of water cycle. Write two processes that occur in this cycle.

2N s 7w D 35200 552 gl (B 2 o i S

Task 23 2 Marks

Explain any two factors that contribute to water pollution.
e ol r e m (o 2 IS 2 Ay
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Task 24 1 Mark

Write any one function of electroscope.

&

<

RSPV RPr FrInTC WL W]

Ans

Task 25 3 Marks

Label the given internal structure of the earth.
20 il 2 pa Gyl 2 S5 Je5 St

L J
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Task 26 3 Marks

Write any three uses of nitrogen gas.

SIS a5 S 2000

i)

Task 27 2 Marks

Write a short note on waterlogging.
SN gl i (S ) o

End of Paper




